
Дискретная математика. Кратчайший путь.
ОрГраф

Дан орграф. Найти кратчайший путь от вершины ©1 к вершине ©12 .

Задача 3.1. Бажутов Павел
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Задача 3.2. Глаговская
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Задача 3.3. Гордеев Алексей
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Задача 3.4. Данильянц Сергей
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Задача 3.5. Иванов Алексей
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Задача 3.6. Крошилова Диана
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Задача 3.7. Кузнецов Данила
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Задача 3.8. Куликов Василий
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Задача 3.9. Меджидов Артур
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Задача 3.10. Миронова Анна
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Задача 3.11. Морозов Антон
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Задача 3.12. Нормурадов Тимур
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Задача 3.13. Овчинников

Георгий
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Задача 3.14. Плаксина Анна

6
1

-5

�7

6
2

-5

�8

R
2

-1

I

1

-1

�8

?

1

R
2

-4

�9

?

1

-5

6
2

-5

�7

I

1

6
1

-4

�8

R
1

-5

I

1

6
2

6
1

1

2

3

4

5

6

7

8

9

10

11

12

Задача 3.15. Просвирин

Александр
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Задача 3.16. Рощина

Екатерина
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Задача 3.17. Савинов Дмитрий
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Задача 3.18. Стивкин
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Задача 3.19. Фирсова Марина
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Задача 3.21. a2
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Задача 3.27. a8
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Задача 3.31. a12
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